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Note: l. Answer any FOURfutlfu.flionsfrom e.No.t 1@!;No.7.2. Question No. I is coiiijrylsory. ,.*
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Define investment.
What are the characteristics

What is Beta? How it i
"Financial risk is a
Calculate the
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(03 Marks)
(07 Marks)

and the standard de{iatil*detiation of returns of a stock having the
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3 a. whatdoyoume%nbyrrdurationoftheBcqMg."-Y #,,a (O3Marks)
b. A bond pays infpffig annually and se]s fo;rRs.835. It has-5ffieirs left to maturity and a par

value orni.tOgffiwtrat is its coupm&WYrits promised Vsf is 12 percent? (02 Marks)c. Max Ltd. has a"14 percent debenturdyith a face value of Rupees 100 that matures at par inc. Max Ltd. has a*f4 percent debentt4gffith a face vahe of Rupees 100 that matures at par in

lf v.qt&Itr€ debenture is caffildffi frve ye*r u@rpees 1i4. It currently sells at R p..,
105. Cdculate each of the folbwiiig for this deboilmres:

(#*,*= current yieu ;wfi ffii) yrc * -tiii) yrM. (r0 Marks)\q;.T \,urrtrLrtyreru 
#%l';\ru t,t, @ (lll) YIM. (l0Marks)

, "te\{q ,*lka. ,What are price charts?' 6'r; ,di (03 Marks)
b5"f;xplain the basic pritrgpt'es and hypoth.rrp;o?no* theory. (07 Marks)
ffitfre Elliot waffi{re6ry is based,onwthd principle that action is followed by reacrion';.

Elucidate' 
ffi d:ry (loMarks)

\""..J . ',::.*

a. what do you ni6an by capital asSbf pricing model? (03 Marks)
b. Given the followine infornoatid'n :

followi istribution of

Given the followine infornoatid'n :

Particulars *l*fu Portfolios
Beta &Mqli 1.10 0.8 1.8 t.4
Return (percent) 14.5 tt.25 19.75 18.s
Standard deviatibq (percent) 20.0 17.5 26.3 24.5

Risk free ratep{ffirn = 6 percent
Market returffi$2 percent

(ii)Treynor Ratio
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(10 Marks)

(iii)Jensen Ratio
(07 Marks)

Calculate:(
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i) Sharpe Ratio
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c. The following data are

(l)Intermsofthesec@chofthesecqffitestedareunderpriced?
(r) Assuming that a pofim*ry# constructed using equffiroportio-n1. of the 5 securities

available to you as a Portfolio
Security Estimated

Return
(percent)

B6{aq
&pq*

cqe, sq*:;
ns 

"-

ffitandard
tl"eviation
(percent)

A 30ffi d.0 80

B 2#qkek 1.5 40

C 2S'h-l 1.0 30

D rTh{*.5 0.8 25 .o^

E +s10.0 0.5 20 'r+#

Market Inde& r5.0 1.0 18d

Govt. Seeffiit# 7 0

urity ffifo:ffine, which of the secffies testec

portfdiri$ constructed using equa&.proportir

rlate thr&rdxpected return and risk of such a port

t are

)ns

foli(listed ab&e, calculqte][r&€xpected return and r$ dtsuch a portfolio. (10 Marks)
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What is the need for revision? @.t " (03 Marks)

'?ortfolio evaluatlkrffientially comprises twg fffnctions, performance measurement and

performance evalunJion". Discuss. -\ (07 Marks)
'Consider 

u portfuIo composed of five pffilPres. All the securities have a beta of 1.0 and

;*d; ;i"irfr"i, of 2i percent. rffi3rtf"ho distributes weight equally among its

.o.pooen$hd*iti.r. If thJstandqd deviition of the market index is 18 percent, calculate
(10 Marks)the totrJ ii$( ofthe portfolio. 

**l"y M:"4sq., 'e*ldffie " .m W

What is"hifferential return? '"'%;-* 
^ ffi ,q (03 Marks)

Describe the different sifuatidns where evaluatifu@performancsqpd.portfolios becomes"\r_ #ft,-_,ffi. _d)*"i (07 Marks)ne0essary. "dWM+' 4 i'ru
Discuss ihe different tffif cnarts used ffiercsnlcal analysis. * *' (10 Marks)
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iei shares are preserlll$hold at

ffi 'r/ST and BT cornpirrids shares are prese$tiff&on at Rupeep*ffiffid Rupees 100 respectively.

Annual divideni*,OVer the next yeanare-eipected to be 1S.dhd 2.5 Rupees respectively. ST

Companys pn{;trted EPS is Rs.Q6,!frtl BT's Company's"EPS is Rs.4. ST's companies

rlivirtends ara exnected to srow at'qh0% Der annum jd*h. failure and BT's bv 9%. Financialdividends arg dpected to grory-at'%0% per annumffie failure and BT's by 9%. Financial

analysffiaue esiimatea tne*tite{pnrices for the ilffiilr,ahead on 2 stocks to be Rs.66, Rs.72,

Rs.75 foi Sf and Rs.114. RS.IA6 and Rs.l32 for BTr
you'ffi asked to examii&d8 return of eachflompany's stock. Choose one stock to beYou'Yfrd asked to examiflffil{E return of eggh{ompany's stock. Choose one stock to be

purdhased for a holdinffiicid of one yea-@ftpport your c-hoice.

if*irr.rtor required4ateffireturn is l27qffihe wants to hold the stock for a longer period,
,-. i- r -r- -^^ -t- --^----,ij-Ee ^--^-^^]o rrrl-,o qd' tlo ttrrorLc\

:quired4p@ffireturn is I
lr"Hffi suggest? wh1*:"$ffsuggest?m 
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(2oMarks)
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